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FOLDSZINT

Tarsalgo:
Kozlekedb + Recepcio:
Raktar:
Személyzeti Oltoz6:
Woc 1:
Oltdzd 1:
Woc 2:

El6tér 1:
Ferfi mosdo:
Oltdz6 2:
Woc 3:

NOI mosdo:
Kozleked6 2:
El6tér 2:
Szoba 1:
Furdd 1:
ElGtér 3:
Kazan:
Konyha 1:
Jacuzzi:
Szoba 2:
Konyha 2:
Furdo 2:
Szoba 3:
Konyha 3:
Furdo 3:
El6tér 4.
Szoba + Konyha:
Woc 4.
Szoba 4.
Konyha 4.
Furdé 4.
Szoba 5:
Konyha 5:
Furdd 5:
El6tér 5:
Szoba 6:
Konyha 6:
Furdo ©:
Szoba 7
Konyha 7:
Furdo 7:
Szoba 8:
Konyha 8:
Furdo 8:
Szoba 9:
Konyha 9:
Furdo 9:

Osszesen:

EMELET

Kozlekedd 3:
Kozleked6 4:
El6tér 6:
Szoba 10:
Szoba 11:
Szoba 12:
Furdé 10:
Furdd 11:
Szoba 13:
Furdd 12:

Osszesen:

KULSO

Zart terasz:
Nyitott terasz:

Osszesen:

44 48 m?
10,53 m?
7,20 m?
3,47 m?
0,88 m?
5,13 m?
1,12 m?
3,57 m?
2,38 m?
5,13 m?
1,12 m?
5,76 m?
5,28 m?
2,11 m?
9,95 m?
3,06 m?
6,45 m?
5,66 m?
8,70 m?
9,00 m?
19,25 m?
8,29 m?
3,66 m?
16,59 m?
4 88 m?
3,66 m?
3,19 m?
23,72 m?
1,53 m?
15,68 m?
8,29 m?
3,66 m?
16,23 m?
7,33 m?
3,66 m?
2,42 m?
19,27 m?
5,65 m?
3,66 m?
17,05 m?
8,13 m?
3,66 m?
17,05 m?
8,29 m?
3,66 m?
17,05 m?
8,29 m?
3,66 m?

398,44 m?

3,79 m?
5,87 m?
2,98 m?
13,85 m?
5,51 m?
3,99 m?
4,70 m?
6,36 m?
4,09 m?
1,90 m?

53,04 m?

16,34 m?
16,76 m?

33,10 m?




